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4. (20 43) (a) If the op-amp is ideal except the voltage gain A=1200 V/V, calculate
Vour. (b) If the op-amp is ideal except A=1200 V/V and input offset voltage V,; =
20 mV, calculate V.

+ A Vout

+
_Vin=2V

= Fig. P4
5. (10 4¥) The op-amp is ideal except its slew rate Slew Rate = 200V /us. While
Vin (t) = V; X sin(wt), calculate the full-power bandwidth (a) if V; =1V and (b)

if V; = 10V.
+ A Vout
+
Vin
= Fig. P5

6. (20 47) The input is a voltage step of 0.1V arriving at t=0. C=1pF and R=1kQ.
V,u:(t = 0) = 0V. Note that the output can swing from -15V to +15V. Calculate
Voue (t = 100ms),

(a) if the op-amp is ideal and )
(b) if the op-amp is ideal except A=1000 V/V.

Fig. P6
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